@ g Q \é\ adicdo de fragdes (0 mesmo denominador)
NoAAC

Nome: Encontro: Data: Pontuagao:
6 1 4 2
— 4+ - = — 4 — =
9 9 6 6
1 2 2 2
— 4+ - = — 4 — =
77 5 5
4 6 3 5
7 7 9 9
1 5 1 3
-+ -= = +==
6 6 2 2
3 1 7 1
6 6 3 3
5 4 3 1
3 3 6 6
2 3 3 5
— 4+ = = — 4+ - =
5 5 9 9
2 1 7 3
— 4+ - = — 4+ = =
6 6 5 5
5 5 7 4
4+ = — 4 — =
6 6 9 9
4 5 3 4
— 4+ - = — 4 — =
9 9 77

www.snowmath.com


https://www.snowmath.com

@ g @ \é\ adicao de fragdes (0 mesmo denominador)

Nome: Encontro: Data: Pontuacao:
6 1 7 4 2
4= _+Z=1

9 9 9 6 6

1 2 3 2 2 4
4+ == 4+ D=
77 5 5 5

4 6 10 3 3 5 8
—f—=—=1Z 4=
77 7 7 9 9 9

1 5 1 3

16 6 2 12 2 3

3 1 2 7 1 8
4+ _ == —+—=_=72Z
6 6 3 3 3 3

5 4 3 1 2
“+-=3 “+2==

3 3 6 6 3

2 3 3 5 8
4= ST ="

5 5 9 9 9

2 1 1 7 3

i l=_ —+Z=2

6 6 2 5 5

5 5 5 2 7 4 11 2
—+Z==1Z - =—=1=
6 6 3 3 9 9 9 9
4 5 3 4

-+ —-=1 -+ —-=1

9 9 77
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